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2A:

g Agagdls & S4s
Chol: AAE S XAAY SA (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol XIAIMAHIE AHE 1,000,000 0 1,000,000
= 1,000,000
401 Al HIZ R 0HbI 1,000,000 0 1,000,000
[ 1,000,000
01 Al&H| 1,000,000 0 1,000,000
Oah NAMAHE A 1,000,000
[ 1,000,000
Olch Mefat S4 1,277,640 1,277,640
202 04l 44,640 44,640
01 =LHA LI 44,640 44,640
ODlchated E2E04H| 44,640
ollZharet e =7 oft]
140,0002 x24H*13|x 122 40,320
oI HFXES 20
120,000 «3E * 13| * 12 4,320
203 HR=H| 3,000 3,000
03 A= L2 FAIH| 3,000 3,000
OJIg 7 ge=d 2,000
ODlcHar A A2 1,000
306 E= 1,230,000 0 1,230,000
01 £g= 1,230,000 0 1,230,000
ONSst HE=sIIH JI=HE JIBRA=AIY 600,000
OANESE NS ZZ2HE
(34 = 14xH) 630,000
ANSIH HHFSA SEfH A=A 600,000 500,000 100,000
306 £EX= 600,000 0 600,000
01 9= 600,000 0 600,000
OXSZt HMSS He & 222 0H=H
Ol JE XIEAIE 600,000
NS LIRS E2t ALY K& 199,000 252,000 /53,000
201 2= 36,000 37,000 A1,000
01 AtR2t2lt] 36,000 37,000 A1,000
OpzelE sgd MMM gXz 35,000
OXSE RD SHAE E2= M 1,000
306 E¢= 130,000 180,000 50,000
01 9= 130,000 180,000 /50,000
O3St (stelEe] HEDHSt 4 At
(6 & 34XH) 100,000
Olst=8ATA XId ArE (98 = 949X 30,000
307 elztol & 33,000 35,000 22,000
02 LB HAHE L 33,000 35,000 /2,000
O3l &ty XA (54 & 54 R}) 18,000
O3l &ty XIZALS (WLl ZTHL) 15,000




SA: Digfarel Dt
D RHARIZ

Rl MEE S KA 54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol Y ¥ WSXJ(HMEAY) 169,200 169,200

306 £= 169,200 169,200
01 9= 169,200 169,200
Ooggdy HAAANE Sdatid A& 169,200
S 2l - SIA Jl=He NEAE 250,000 150,000 100,000
308 AHAIEMSOIE 250,000 150,000 100,000
183 S| 2SO U ZB & HAEAIE 250,000 150,000 100,000
Od= Hel - sIIAH I X At 150,000
OsI1AH 21 DSAHE K& A
(B¢ = 19xH) 100,000
oDl 2o X3 AHY 56,000 40,000 16,000
306 £= 56,000 0 56,000
01 &2d= 56,000 0 56,000
ORI e X3 At 56,000
BIOIH AHOIA 7= 2 A (SHIREXE) 42,500 42,500
307 gl2to| & 42,500 42,500
02 QA AAEE X 42,500 42,500
OOl AHOIA 5 2 At
(58 & 34 XH) 42,500
S ALAFE A 18,000 10,000 8,000
307 elztol & 18,000 10,000 8,000
04 QIZIHAIAIRH 2 X 18,000 10,000 8,000
Od = it sE A 18,000
IS =X 32,120 103,380 AT1,260
=A== 13,700 81,020 AB7,320
201 er2 3| 8,700 12,800 24,100
01 AtR2telHl 7,800 11,800 24,000
OJIgRA 2= M= 3,000 *600= 1,800
OJIgRI JIEE +8
30,000 »1007H 3,000
OLtdHR EX & =2 3,000
03 ALY 900 1,000 A100
OFHEA(22AHA) & JIBENEEE S 900
301 EtE2 N = 5,000 16,500 A11,500
14 JIEt2 a3 5,000 11,000 26,000
O=U2 JIg=A o= 5,000
o= JIERX 2oz 2,000
o)A HHIY = 3,000
=LI1¥ OI&Hl XI& 3,000 3,000 0
201 Ler23| 3,000 3,000
01 At2teltl 3,000 3,000
OFRA BEx5 S2HA A&
1,000,000 *32] 3,000
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Celr JIY KX EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEEXNFXIAIRA2SE 16,420 19,360 23,940

201 er23 | 10,420 14,360 23,940
01 At2teltl 1,300 2,000 AT700
OMSAIRL 29 1,300
02 S3=gl 9,120 12,360 A3,240
Ol AlE= 420
Oggtlst & HA ASE 1,200
O38xtg FAl2cl 3,000
OARA 2Zeldl S 4,500
203 gR=| 5,000 5,000
03 A= PR F&IH| 5,000 5,000
O=Ed JIgRA =4 5,000
HIHAl =2 o+ 4,262,267 9,993,965 Ab,731,698
= 1,014,534
== 403,750
Al 2,843,983
S5 oluXolse sa 4,262,267 9,993,965 A5,731,698
= 1,014,534
= 403,750
Al 2,843,983
HUXIES XIZAE(Ex) 5,600 7,600 /2,000
== 2,800
Al 2,800
201 2= 5,600 5,600 0
[ 2,800
Al 2,800
01 At2telt] 5,600 5,600 0
OuuUXIEe =olus A S2XE 5,600
= 2,800
Al 2,800
ATHAOIU K =S XA 59,840 107,060 NAT,220
= 29,920
Al 29,920
402 2I2F X201 & 59,840 107,060 NN4T7,220
== 29,920
Al 29,920
02 QI EASEX(0IETHR) 59,840 107,060 N7 ,220
O.THHOIH X =ERXI AL 59,840
< 29,920
Al 29,920
SAIIA ESAHY 500,000 500,000
402 212t X201 & 500,000 500,000 0




SA: DicHar St
HH: T 2 o
e 228 HlURoIse S8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2IZHRAETAIHHI 500,000 500,000 0
O AIIA 25 A 500,000
CADEA OISESXNE X8l A& At 504,600 1,621,000 21,116,400
= 151,380
Al 353,220
402 2I2F X201 & 504,600 1,621,000 1,116,400
== 151,380
Al 363,220
03 2IZHAAETAIHHI 504,600 1,621,000 21,116,400
OEAIDIA DISSXSE EXId] N3 A 504,600
[ 161,380
Al 363,220
FHAHNE NURN=SI(MASES) 18,500 35,000 16,500
= 12,900
Al 5,600
401 Al HIZ 201 18,500 35,000 16,500
= 12,900
Al 5,600
01 AlZ2H| 18,500 35,000 16,500
OMASE LD WA 18,500
= 12,900
Al 5,600
FANS JIAAE AHEX 2S5 AL 29,700 30,000 A300
= 8,910
Al 20,790
308 AHXIEMSOIH 29,700 30,000 A300
= 8,910
Al 20,790
18 SIS0t HAS A 29,700 30,000 2300
OIS INANE QHHEX B2
55,0003 %540 29,700
== 8,910
Al 20,790
FHAAE HUXEEHEAIY 9,975 11,305 21,330
= 3,990
Al 5,985
402 2I2F X201 & 9,975 11,305 21,330
= 3,990
Al 5,985
03 2IZ+RAETAIZ I 9,975 11,305 1,330
OFHAAE HHXSEHEAY
66,5002 150 9,975
s 3,990
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OIUX == &
SEX ouXolge 58

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 5,985
FAaEEA 2EH XE 240,000 120,000 120,000
307 21201 & 240,000 120,000 120,000
05 2IR”IRIE = 240,000 120,000 120,000
O425F4 29| 2
10,000,000 * 12042 204 2~ 240,000
ATHAUU X SSEA 1,841,942 0 1,841,942
= 979,134
Al 862,808
401 A& HIX R0 1,841,942 0 1,841,942
= 979,134
Al 862,808
01 A28l 1,841,942 0 1,841,942
OL AU UEX E=8 KA 1,841,942
= 979,134
Al 862,808
PG A NI 25 A 513,110 0 513,110
S 200,000
Al 313,110
402 2I2F X201 & 513,110 0 513,110
= 200,000
Al 313,110
03 2IZ+RAETAIZ I 513,110 0 513,110
OLPG A8 MEd 2ot 513,110
= 200,000
Al 313,110
LPGEJ| ALt AIEIHE AL 45,000 67,500 22,500
= 22,500
= 6,750
Al 15,750
308 AtAIEHMSOIE 45,000 67,500 A22,500
= 22,500
= 6,750
Al 16,750
18 SIS0t HAS A 45,000 67,500 A22,500
OLPGEI| MEItT AIENE AL
225,0002 200 45,000
= 22,500
= 6,750
Al 15,750
EHrdt 2HAIE ZXI XNEAS (SSTHESAL 1= 494,000 838,100 234,100
2AA)
402 2I2F X201 & 494,000 838,100 A344,100
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cell 32X K08 SA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 QI X2 AL E A (KEMITHE) 494,000 838,100 N344,100
OBNZ LHAIL MX| AL (BSTHE
SAIE QIR ANY)('23. AlHI) 494,000
AHHEA 29 779,992 2,486,49% 1,706,504
< 150,000
Al 629,992
AFACHX] 2kl 779,992 2,486,4% A1,706,504
= 150,000
Al 629,992
AA(SZ)EX A2t 279,992 260,4% 19,4%6
101 @124H| 130,520 132,4% 1,976
MU IIRINZZE2NSES 130,520 132,49% A1,976
Ot (s3)EA =& FH| e1fy 130,520
oM HEA ME=HY 1Y 100,400
oSSHAl M=&Y A2Y 30,120
201 er2 3| 9.472 8,000 1,472
01 At2t2lt] 9,472 8,000 1,472
Od(=3) Xl EHl 2371 9,472
401 AIEHIX SO 140,000 120,000 20,000
01 Al&H| 140,000 120,000 20,000
OUHE S ME=HEY 110,000
OLHE Al FXI2el SAH 30,000
S3HA =48 2 ZHIAS(HEAIY) 300,000 200,000 100,000
< 150,000
Al 150,000
401 AIEHIZL S0 300,000 200,000 100,000
= 150,000
Al 150,000
01 Al&H| 300,000 200,000 100,000
2SS JIBAIE ZHIANE 300,000
= 150,000
Al 150,000
2 sSHA 3NEAE 200,000 0 200,000
401 Al HIZL R 0HbI 200,000 200,000
01 Al&HI 200,000 200,000
O=s3HA SN 200,000
SHRIjEMH A 2,033,568 1,921,645 111,923
= 80,000
Al 1,953,568
=UW=7IISXA 1,506,178 1,514,662 N\8,484
== 80,000
Al 1,426,178
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SA: DicHar St
3 HeS(0lcHarg)
chel: BEXIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 JIEtEtE =SS 331,035 0 331,035
OE=E2AIISHA SFML ijzetets 331,035
HH2LZHI(OlH A D) 90,477 89,956 521
el 2 E | 56,760 56,760 0
eIg =3 56,760 56,760 0
101 e124d| 56,760 56,760 0
02 JIEtM = 56,760 56,760 0
OAIZEHI HIE QIAHI (M S AR A) 56,760
o2(CHa) 4,000,000 «1H*12& 48,000
otExE 40,0003~ 1 ~122 480
oY HSAHI 140,000& x 12+ 123 1,680
oXl g2 x| 150,000& x 12 =123 1,800
oSFMEE 250,000« 1H« 122 3,000
oy 21 =H| 50,0002 x1& 123 600
oIt a| 1,200,000 %1 1,200
Jl=23sl 33,717 33,19%6 521
JI23Hl 33,717 33,19%6 521
201 2= 26,217 28,3%6 A2,179
01 At22t2l] 19,617 21,7% A2,179
OSAMER(M) 7 2,760
OZets AL, ZetZelE E (g8t
Z) 3,960
OJIEF AtR 228l 12,897
02 S3=gHl 6,600 6,600 0
oZsitg sl 6,600
OIS XHAl, EFNERE= 100
oxte RFHI 5,000
O A=Al & AZSHI 500
oxtg E8= 1,000
203 =] 4,800 4,800
M FA2ELRFEI 4,800 4,800
ORNSgERF=AHI 400,000 <123 4,800
405 AHaHE = 2,700 2,700
01 AL =S F=HI 2,700 2,700
OdydYFE Mot ¢ 2,700
oPC+ 1,120,000 *2CH 2,240
oZ2LIH 7& 230,000 2CH 460




